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Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each
| sentence. Then mark your answer sheet.

Walters could face for his role in the robbery.

1) prohibition 2) prosecution 3) collaboration 4) violation
The officer's historical role as a street cleaner occasionally required a measure of
and imagination.

1) embezzlement 2) submission 3) masterpiece 4) dexterity
The daughter had all the brains and did all the accounts—the son was just the
boss of the business.

1) nominal 2) tenable 3) unpretentious 4) decent
After the tennis match the boys the sandwiches in seconds.
1) devoured 2) engraved 3) aftronted 4) hallowed
Over the centuries, these animals have become to living in a dry environment.
1) inhibited 2) conducive 3) habituated 4) offensive
The results provide the most and conclusive evidence to date of some enduring
inequities in participation in such facilities.
1) ambivalent 2) authoritative 3) inflexible 4) excessive
Language acquisition is one of the central topics in cognitive science. Every theory of
cognition has tried to explain it; probably no other topic has such controversy.
1) assented to 2) appreciated 3) speculated 4) aroused
As supporter of the value of free trade, Bennett was often called upon to give speeches
around the world extolling the of unencumbered commerce.
1) demerits 2) ambiguities 3) virtues 4) euphemisms
those who challenge your thesis is more insulting than attacking them outright.
1) Verifying 2) Amusing 3) Ignoring 4) Seeking

The student's purpose is specific and well defined, yet his method could be described as

1) whc.)lchcancd 2) haphazard 3) autonomous 4) credible

| Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark your answer sheet.

Since World War II, direct observation of marine organisms in their natural habitats has
been made possible by underwater cameras. television,(11) | and submersible craft, or
submarines, that can descend to great depths. Underwater television provides the observer with
a continuous picture of events (12) within the field of the submerged camera. The
development of self-contained diving equipment made it possible (13) marine
organisms in their natural habitat.

Morphological and taxonomic studies of marine organisms are generally performed on
preserved materials in connection with the work in museums and universities. Physiological
and embryological investigations requiring the use of living material (14) generally
pursued at biological stations. These are situated on the seacoast, (15) the rapid
transfer of specimens to the laboratory where they may be maintained in seawater provided by
special circulating systems.

1) to improve diving equipment 2) improve equipment to dive

3) improving equipment of diving 4) improved diving equipment

1) that occur 2) to occur 3) occur 4) occurred

1) that the investigator inspect 2) for the inspector to investigate

3) to inspect the investigator by 4) that investigator’s inspection of

1)is 2) to be 3) are 4) being

1) facilitated 2) and facilitate 3) that facilitates 4) thus facilitating
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Reading Comprehension

Directions: Read the following passages and decide which choice (1), (2), (3) or (4) best fits

each space. Then mark the correct choice on your answer sheet.

PASSAGE 1:

One can study the administrative functions that develop, implement, and monitor the
environmental policy of an organization. An Environmental Management System (EMS) is a
framework that helps a company to achieve its environmental goals through consistent control
of its operations. The assumption is that this increased control will improve the environmental
performance of the company. The EMS itself does not dictate a level of environmental
performance that must be achieved; each company's EMS is tailored to the company's business
and goals.

Reviewing the company's environmental goals, analyzing its environmental impacts and legal
requirements, setting environmental objectives and targets to reduce environmental impacts
and comply with legal requirements, establishing programs to meet these objectives and
targets, monitoring and measuring progress in achieving the objectives ensuring employees'
environmental awareness and competence, reviewing progress of the EMS and making
improvements are among the basic elements of an EMS. Instead of adapting to changing
environmental circumstances, the organization can seek to modify its environment. Vertical
and horizontal collaboration, i.e. cooperation or integration with other organizations in the
industry value system are typical means of reducing uncertainty. An example of reducing
uncertainty in relation to the prior or demanding stage of the industry system is the concept of
supplier-retailer collaboration or efficient customer response.

What would the possible topic be for the above passage?

1) Environmental Management 2) Administrative Management

3) Managerial Business and Goals 4) Vertical and Horizontal Collaboration
According to the passage, EMS is a framework that helps a company to achieve its environmental
goals through —------——e—----- control of its operations.

1) professional 2) frequent 3) symmetrical 4) erratic

The author -------------—— that the increased control of the company's operations will --------------—
its environmental performance.

1) supposes — deteriorate 2) assumes — aggravate

3) imagines — worsen 4) presumes — enhance

Which of the following is NOT regarded by the author among the basic elements of and EMS?
1) Ignoring progress in obtaining environmental objectives.

2) Setting programs to ensure environmental objectives and targets.

3) Determining environmental goals to decrease environmental effects.

4) Examining the company's environmental effects and legal requirements.

If the author is right, then the concept of efficient customer response is an -—-----
1) instance of increasing uncertainty concerning the demanding stage of the industry system
2) instance of decreasing uncertainty regarding the demanding stage of the industry system
3) example of vertical and horizontal collaboration with other organizations

4) example of vertical and horizontal integration with other organizations
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PASSAGE 2:

Concerning the behavioral science theory of management, mainly developed at Carnegie
Mellon University and prominently represented by Barnard, Richard M. Cyert, March and
Simon, most of what goes on in service organizations is actually decision making and
information processes. The crucial factor in the information and decision process analysis is
thus individuals’ limited ability to process information and to make decisions under these
limitations.

According to March and Simon. organizations have to be considered as cooperative systems
with a high level of information processing and a vast need for decision making at various
levels. They also claimed that there are factors that would prevent individuals from acting
strictly rationally, in opposite to what has been proposed and advocated by classic theorists.
Instead of using the model of the economic man, as advocated in classic theory, they proposed
the administrative man as an alternative based on their argumentation about the cognitive
restrictions of rationality.

What does the passage mainly discuss?

1) Service Organizations 2) Cooperative Systems

3) Behavioral Science 4) Information Management

According to the behavioral science theory of management, decision making and information
PrOCESSeS ==mmmmmmmmmmmmnmane i

1) comprise nearly all of what occurs in service organizations

2) comprise most of what goes on in profitable organizations

3) are developed by Barnard, Richard M. Cyert, March and Simon

4) are developed by scientists and theorists at Carnegie Mellon University

On the basis of the information and decision process analysis, individuals' limited ability to
process information is the ——-----ceeeecemeee,

1) trivial factor 2) decisive element

3) peripheral element 4) trifling factor

One can infer from the passage that individuals act -----——-vnemeee- according to classic theorists.
1) incredibly 2) surprisingly 3) logically 4) irrationally

The author finally states that March and Simon -----—------———-- limits of rationality.

1) suggest the administrative man due to the functional

2) propose the economic man because of the cognitive

3) propose the economic man because of the functional

4) suggest the administrative man due to the cognitive

PASSAGE 3:

One can discuss a method of planning and managing project execution designed to deal with
uncertainties inherent in managing projects, while taking into consideration limited availability
of resources (physical, human skills, as well as management & support capacity) needed to
execute projects called CCPM.

CCPM is an application of the Theory of Constraints (TOC) to projects. The goal is to increase
the flow of projects in an organization (throughput). Applying the first three of the five
focusing steps of TOC, the system constraint for all projects is identified as are the resources.
To exploit the constraint. tasks on the critical chain are given priority over all other activities.
Finally, projects are planned and managed to ensure that the resources are ready when the
critical chain tasks must start, subordinating all other resources to the critical chain.
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The project plan should typically undergo resource leveling, and the longest sequence of
resource-constrained tasks should be identified as the critical chain. In some cases, such as
managing contracted sub-projects, it is advisable to use a simplified approach without resource
leveling.

What does the passage mainly discuss?

1) Theory of Constraints on Projects 2) Planning and Managing Projects

3) Critical Chain Project Management 4) Multi-project Environments

According to the passage, CCPM is designed to deal with uncertainties -------------e=-== in
managing projects.

1) essential 2) acquired 3) ordinary 4) gained

Why is the Theory of Constraints applied to projects?

1) In order to give priority over all other activities.

2) In order to give superiority over all other activities.

3) In order to reduce the stream of projects in an organization.

4) In order to multiply the stream of projects in an organization.

If the author is right, then projects are planned and managed to ------------------- that the resources
are ready when the critical chain must start, making - -- all other resources to the
critical chain.

1) make sure — subservient 2) make sure —independent

3) confirm — autonomous 4) confirm — self-reliant

The author obviously states that the project should -----—-—---— resource leveling.
1) particularly symbolize 2) regularly get rid of

3) specially represent 4) normally experience
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